0O 00

SECSB - 502 Question Booklet Sl. No.

NA108643
Version Code V SEMESTER ALL U.G. COURSES
EXAMINATION, FEBRUARY/MARCH 2024
‘ (NEP Scheme) (Freshers)
EMPLOYABILITY SKILLS (SEC)

Time Allowed : 2 Hours Maximum Marks : 50

INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc.
If any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series.

2. Write clearly the Question Booklet Version Code A, B, C or D in the appropriate space
provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Student ID, Q.P. Code, Question Booklet
version code and affix Signature on the OMR sheet. As the answer sheets are designed
to suit the Optical Mark Reader (OMR) system, special care should be taken to fill
those items accurately.

4. This Question Booklet contains 50 questions. Each question carries 1 mark. Ali questions
must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. If more than one circle is shaded / wrongly shaded /
half shaded for a given question no marks will be awarded.

6. Q.No. 1 to 40 are in both English and Kannada languages. If any confusion arises in the
Kannada version, please refer to the English version of the questions. Q.No. 41 to 50
are given in English only.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet
is collected. After handing over the OMR Answer Sheet to the-tnvigilator you may
leave the examination hall. N e
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Instruction : Select the most appropriate option from the provided choices for the
following questions. All questions are compulsory and each question carries one
mark.

ARUR : 83 FINT T, E?ri@ﬁ WINAT BodNTos Fexh), Wegeets 803cdoRy O3,

&3

%033, 41 00%3 50 B WINS T, I IFR or LPTRODY VeFTINT. LFYNF) worf LRHDYE
2.0 eja? F28R0w> X0 emsdam Roghs. DR T, 3 s BT 030THNTIZH T F,8 T3 0

t

20T @oamaq TROOTIT.
1. If ‘CAB’ is coded as ‘312’, how is ‘BAG’ coded ?
A) 312 B) 514 C) 415 DY-217
‘CAB’ &3 '312'00t0 Spel® SRARTT, BAGT ©5) Ten 30T SRESMOIT ?
A) 312 B) 514 C) 415 D) 217
2. If Ais the brother of B and B is the sister of C, what is the relationship between
AandC?
A) Father-Daughter B) Brother-Sister
3 ’—'-—-j-...{_\C\) Uncle-Niece D) Mother-Sister
Sac. o0 Azzb';ﬁ\da B T30 33eems 3082 B Tt C U850 3xeem0oinnaEd, A 302 C S6008
; :doaob 5360 ?
( 3 12 '}2_,A)) Scacﬁ ENRIALEY B) AZremT-REReTO
| C) w8m-Aek D) Zo0%-TEeemd

3. If you start facing north and turn 90 degrees clockwise, what direction are you
facing now ?

A) North B) East C) South D) West
Qesy YOS TE 02D WRE T TE TN 90 BN, STONTT, cIRT DY Ve [
RITORO 2

A) «vg3T B) Zpswe C) disa D) T

SPACE FOR ROUGH WORK
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4. Choose the Venn diagram which best illustrates the three given classes in the
following question :

Women, Teachers, Doctors

@ 69 «© +OD

2 FINT B 00Qe T R0 BRFTTE, YUZWN < SRORR T TesTUP, WY
e30A !

maa@wm %ﬁdo 75,53, 00

v@© #(©9 0@ ©QmD

5. |f the letters in the word ‘COMPUTERS’ are rearranged alphabetically, which
letter will be in the middle 5
A) M B) O C).P BTN
‘COMPUTERS’ STT98 bﬁdmfwo Cola Wk ADESVS SeoERNE D B,BOTY,

ST RCRXTT, 0IRT LTTR aiacs TER dasa 9 /’ :t-'i

A) M B) O C) P DT 1
6. The average of 5, 10 and 15 is ;

A) 10 B) 12 C) 18 D) 15

5,10 303 15 8 R0oR0 &3, ?

A) 10 B) 12 C) 13 D) 15

7. Ten years ago, Alice was twice as old as Bob. If the present age of Alice is 30
years, what is the present age of Bob ?

A) 15 years ) 20 years C) 25 years D) 30 years

T TR 25033, SOTD WO, TR NTTO T aﬁﬁuo =Ox° 7T TyRB

ﬁoﬁano 30 &&rmhcju 2302° ”ﬁd BRI TR, *wp ?

A) 15 awrﬁaﬁo B) 20 IR0 C).256 ﬁw%'ﬁﬁﬁa D) 30 SReN
R i

e N SRR
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8. If the price of a shirt is increased by 20% and then decreased by 10%, what
is the overall percentage change in the price ?
A) 8% B) 10% C) 12% D) 14%
TEIFES ubmm 20% Fegp 3022 FoBT 10% 0=, FRTDOTRTT, WS T
FeTTZOWITO wd@awm Nee) ‘P

A) 8% B) 10% C) 12% D) 14%
9. If 25% of a number is 40, what is 40% of that number ?

A) 32 B) 40 C) 50 D) 64

2,003 :Jogjaoda 25%, 40 sAT0, & 1::35_.::; 40% ;oxow?

A) 32 B) 40 C) 50 D) 64

10. A and B are partners in a business and invested in the ratio 3 : 5 and agreed
to share profits in the ratio of investment. If the total profit is ¥ 800, how much
profit does B get ?

TE AVEESNA) T 320 B) ¥ 400 C) % 480 i

| \\ TROITTC T8 293 : 5 T SRTIEY, 30, W00 FeeE BRE, 260, 0083
nYR, BRET @cpwUSui) TRYIRDI, Bow3ERoEd, B o8 ooy 2D ?

GF - 563 122/ »?ﬁ’ 320 B) ¥ 400 C) R 480 D) ¥ 500

e il \

13- if the principal amount is ¥ 2,000, the rate of interest is 10% and the time is
2 years, what is the simple interest ?

A) T 500 B) ¥ 400 C) 200 D) 100
520X 2,000, W 3T 10% SNTT, 2 TR TTY WE %0 2
A) T 500 B) ¥ 400 C) 3 200 = D) ¥ 100

12. At 3 PM, what is the angle between the hour and minute hands of the clock ?
A) 90 degrees B) 30 degrees C) 45 degrees D) 60 degrees
mmJQS notdn, NRCRTT Mots S8 VR meé%ﬁ@é DB TR @x%o
A) 90 &n, B) 30 &n, C) 45 @n, D) 60 &n,

SPACE FOR ROUGH WORK
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13.

14.

19.

16.

How many times do the hands of a clock coincide in a 24 hours period ?
Al Bi.12 C) 22 D) 24

04 RoUNRY SWHOIG, T, W0 RE@030R0E noed B, =8 DRORT WO, 2,000
2eeiR0T W3IBS ?

A) 11 B} 12 C) 22 D) 24

If today is Thursday, what day will it be after 7 days ?

A) Friday B) Saturday C) Sunday D) Monday

20T ROTITTNTT, 7 OINS 03T VRS ORHONTIBT ?

A) 358,500 B) 32590 C) oS00 D) Reeeowes
How many days are there in the month of February in a leap year ?

A) 28 B) 29 C) 30 D) 31

908 [TET P, T0 SONTL, ST QTN B3O ?

A) 28 B) 29 C) 30 D) 31

What does UPSC stands for ? ~,_ ‘

A) University Public Service Commission
B) Union Public Service Commission
C) United Public Service Council

D) Universal Public Service Committee

UPSC &%, ST D ?

A) SB5TR, 00 Snegteme BodRen

B) GRR0IT BYF® FNFR BT
—5

C) o3z uc RVWF® HBOEA TN
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17. The UPSC is responsible for recruiting candidates for which of the following

services ?
A) Indian Police Service (IPS) B) Indian Administrative Service (IAS)
C) Indian Foreign Service (IFS) D) All of the above
= BN CIRT ZESTON Y HFNYED 36208 TRER WWRTOCRT, UPSC 32003 ?
A) 5208e03 ZpOex* 33 (IPS) B) o08e0l ST ez (IAS)
C) 208e0dd QTeTooN 3ess (IFS) D) 20¢98 QR
18. CDS Examination for recruitment in which sector ?
A) Civil Services B) Defense Services
C) Engineering Services D) Medical Services
s BOoHT Sexdsedmon CDS "‘E)cﬁ Syee) SIS ?
A) TONOT FERNEO B) Stme BeIInsd
(0) J=lel~levelaleray S atew D) &,5,3¢0W [eIBNEO
19. SSC is an organization to appoint staff for
h"‘“ A) Central government B) State government
i« G) Unlon territory D) Over seas
i SS 2129 0D TR ZoFoIRNG.
~ \.-\A) $¢0T, AFOF T B) Tot, REFT
C) $e0t, B3 T,T3¢3 D) B=08,ne @oed

20. What is the maximum number of attempts allowed for General category
candidates to become an IAS officer ?
A) 3 attempts B) 4 attempts C) 5 attempts D) 6 attempts
ROTBINT, SRFT SPRFNT 7 IAS S0T00IRNLY BROBOST T NOF Fos3,03
T, 008, e DT, ?
A) 3 T,00 NP0 B) 4 =,003 N0 C) 5,008 N0 D) 6 S,cPg L

SPACE FOR ROUGH WORK
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21. Which number comes next in the series ?

2 5,10, ;g

A) 25 B) 26 Gt D) 28
25 0630309, 350078 WTIR 11:33 o330 ?

g n 5108 17
A) 25 B) 26 CY(2F D) 28

(X) as its part.

02, Find out the alternative figure which contains figure

i o
A'u
) (1)
D) 4

A) 1
WT, (X)u?b @dd poeplal 3 D3R BT

1&
"db

(X) (1) (2)
A) 1 B) 2 C) 3 D) 4
23, Choose the correct mirror image of the given figure (X) from amongst the four
alternatives.
I
A) 1 B) 2 C) 3 D) 4
3 IR 8%, 2V0WTRY, 503

A) 1 C) 3
R e
SPACE FOR ROUGH WORK
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24. Choose the alternative which is closely resembles the water-image of the given
combination.

NUCLEAR
1. BYEICuun
2. INCIEVE
3. huCrave
4. UNCTEVB
A) 1 B) 2 C)
SR BodnvY,, NUCLEAR S ZO0IRT ®O T, 8Wowsmy S04
1. BYEICUN
2. UINCIEVE
‘"‘f““& I/IUCFEIVH

D) 4

w

B) 2 C) 3 D) 4

25./idenhfy the figure from the alternatives that completes the pattern (X).

@ @ @

(X) (1)

A) 1 B) 2 C) 3 D) 4
BR300 Sove, 133, (X) sty TeorReeRDs o8 20 THTEA.

(X) (1) (2) 3 (4)
A) 1 B) 2 C) 3 D) 4

SPACE FOR ROUGH WORK
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Directions (26 — 29) : Study the following chart and answer the questions.
The pie chart given here represents the domestic expenditure of a family in percent.

Study the chart and answer the following questions if the total monthly income of
the family is X 30, 000.

Provident
Fund Food
1 20/0 250/0
Medical

13%

| Child Educatio
G 230?5” " House Rent
18%

Car
9%

= PUSR (26 — 29): B3 T

9€) VEBST &) WV E BOEIO0W
‘dmodb % 30, 000 N3, mm—aﬁ'ﬁa e:vts 0T SRE BB FENS )3 IChE (A 22

3N LT R, BT 0E BRE BB B)3
T PR, F) 3253&8) 3 é&@wga

2L
el
(€1
=1
%
e
e
=,

1, L
@)
lm

\

12% | ©%0 \ <
5,3,8e0D 25% \ @

e T
13% Vs
Y 8T =0 tRan

wh
53% 18%
(DieV)

9%

26. The house rent per month is

A) X 5,400 B) ¥ 1,800 C) ¥ 3,600 D) ¥ 7,000
&ong =0 BN ﬁw w_'.\ i
A) ¥ 5,400 B) ¥ 1,800 C) X 3:600 D) ¥ 7,000

SPACE FOR ROUGH WORK
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27. The food expenses per month is

A) T 7,000 B) T 7,500 C) ¥ 8,000 D) X 8,500

SONY ST/ITT %, ), ?

A) T 7,000 B) ¥ 7,500 C) ¥ 8,000 D) ¥ 8,500
28. The total expenditure of Medical and Provident fund per month is

A) X 7,000 B) 37,500 C) ¥ 8,000 D) ¥ 8,500

B0 33,33, 86030 OB LIV, QD 2E3) %,

A) X 7,000 B) ¥ 7,500 C) ¥ 8,000 D) ¥ 8,500
29. The Car expenses per month is

A) ¥ 2,000 B) ¥ 2,070 C) ¥ 2,700 D) ¥ 9,000

30N¥ 50T 35, D ?

A) 22000  B) 2070 C) ¥ 2,700 D) % 9,000

- =36=.f the principal amount is T 1,000, the rate of interest is 5% and the time is
T 41ymar, what is the simple interest ?

AJZ'50 B) Z 100 C) T 150 D) % 200
53122 445 1,000, 108 B8 5% SNTT, 1 e AoV wa, o 2
ol B) 100 C) % 150 D) % 200

31. Cand D are partners sharing profits in the ratio of capitals. They have invested
X 6,000 and X 15,000 respectively in a firm. If C’s share of profit is ¥ 3,000,
what will be the share of D’s profit ?

A) % 5,000 B) ¥ 7,500 C) ¥10,000 D) ¥ 11,500
C 3033 D 2ommdng wmomesnd), coila) BOWERTIT ToLITIT. 0
:doz(i;)oda@ 3,530:9N X 6,000 W2 X 15,000 e mam;;. Codd <oprs Toew
¥ 3,000 &-sﬁt:éd, Do @ogie @oen QW ?

A) 5,000 B) ¥ 7,500 C) ¥ 10,000 D) ¥ 11,500

SPACE FOR ROUGH WORK
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32. A car travels at a speed of 60 km/hr, how long will it take to cover a distance
of 120 kilometers ?

A) 1 hour B) 2 hours C) 3 hours D) 4 hours

20T FTO N0E3R 60 8.20¢. Fenwd) WOATT, 120 $peet3T mawmﬂ B, 8080
QwD Do 37?53&;4::: ?

A) 1 noed B) 2 nogdnsd C) 3 nogidngd D) 4 noedngd
33. If a train travels at a speed of 80 km/hr, how far will it travel in 2.5 hours ?

A) 180 km B) 200 km C) 250 km D) 300 km

2.0z G en nogdrt 80 8.50¢. Fents WORTT, &t 2.5 MOLINTY, M), TRT ORI ?

A) 180 8.cwe. B) 200 3.&0e. C) 250 3.e0¢. D) 300 3.:0e.
34. A shopkeeper bought a shirt for ¥ 40 and sold it for ¥ 60. What is the profit ?

A) 20 B) 30 C) 40 D) 50

2.0) ONBeO X 40 3.—, JeFs LOeR, T 60 %ﬁ BROTT, SB[ AN LT T, ?

A) 20 B) 30 C) 40 D) 50 ; ,7
35. If the cost price of an item is ¥ 75 and the selling price is X 60, what is the Iosé:?}i-\"

A) 10 B) 15 C) 20 p)25 =\

20T WROWT FRRHT WIET 75 ) TR0 38X 60 SNTT, Bridwm ST, O, ?

A) 10 B) 15 C) 20 D) 25
36. How often Examination is conduct to recruit IPS officer ?

A) Every year B) Once in two years

C) Once in three years D) Quarterly

IPS £0500008) Femo% TRELD W, Wod T IBIIMITT ?

A) T8 TRF B) T moassman

C) =oRDd SRR D) 3,373

SPACE FOR ROUGH WORK
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37. Which of the following is an even number 2
A) 8 B) 11 G 15 D) 13
BINTZRTES Tawd X083, IR 2
A) 8 B 1 ) 15 D} 18
38. The HCF of 18 and 24 is
A) 6 B) 12 C) 18 D) 24
18 3030 24 8 0. 7.0,

A) 6 B) 12 C) 18 D) 24

39. The LCM of 8 and 12 js

B) 24 C) 32 D) 48

B) 24 C) 32 D) 48

T l 40 The ratio of boys and girlsinaclassis3: 2 and if there are total 25 students
in class, how many boys are there in class ?

A) 15 B) 20 C) 30 D) 35

L0830 FTNEADA Bo@oTy OB BOBROACIT SI0TEY 3 : 2 AT WY & TR0

L3, UT, HF Y oas, 25 BNEIT, BoMEcDYT Bo@Eong No&s, oD 9

A) 15 B) 20 C) 30 D) 35
SPACE FOR ROUGH WORK
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Direction (41 — 44) : Read the following passage and answer the questions:
Passage:

In recent years, there has been a growing concern about the impact of plastic
pollution on marine ecosystems. Plastics, once considered a convenient and
versatile material, have become a major environmental threat. The oceans, in
particular, bear the brunt of this issue. Plastic waste, such as bottles, bags and
micro plastics, end up in the oceans, posing a serious threat to marine life.

Plastic waste not only contaminates the water but also affects the wildlife that
inhabits these ecosystems. Marine animals often mistake plastic debris for food,
leading to ingestion and potential harm. Additionally, the accumulation of plastic
waste in the oceans contributes to habitat destruction and disrupts the delicate
balance of marine ecosystems.

Efforts are being made globally to address this issue. Initiatives for reducing
single-use plastics, promoting recycling and creating awareness about the
consequences of plastic pollution are gaining momentum. Governments,
environmental organizations and individuals are working together to find sustainable
solutions to mitigate the impact of plastic pollution on our oceans.

Questions : fiom /

41. How does plastic waste affect marine life ?

A) By providing a habitat for marine animals

B) By promoting the growth of marine plants

C) By contaminating the water and harming wildlife

D) By contributing to the diversity of marine ecosystems

42. What are the global efforts mentioned in the passage to address plastic
pollution ?

A) Initiatives for increasing single-use plastics
B) Promoting the use of more plastic in daily life

)
C) Reducing single-use plastics, promoting recycling and creating awareness
)

D) Ignoring the issue and letting it resolve on its own

SPACE FOR ROUGH WORK
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43. What is the primary concern discussed in the passage?
A) Deforestation B) Air pollution
C) Plastic pollution in oceans D) Soil erosion

44. What do marine animals often mistake plastic debris for ?
A) Rocks B) Plants C) Food D) Coral reefs

45. Complete the following sentence with most appropriate option :

There was a in the garden and children were reading under it.
A) tree; books B) rain; stories
C) darkness; playing D) wind; sleeping

46. What does the phrase “Break the ice” mean ?
A) Melt something frozen
B) Begin a conversation in a social setting
—=—.__ C) Create a barrier
. | D) Complete a task quickly

47. Frpd the error in the sentence: “She don't like ice cream.”
172, my/she B) Don't C) Like D) Cream

" 48. The sun sets in the
A) East B) West C) North D) South

49. What is the opposite of “Late” ?
A) Early B) Tardy C) Delayed D) Punctual

50. Choose the correct sentence:
A) After finishing his homework, John played video games.
B) His homework finished, John played video games after.
C) John finished his homework after playing video games.
D) John video games played after finishing his homework.

SPACE FOR ROUGH WORK



